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1 (asaka hetro B [ 70 0 0 70 3 1
7
24
2 asaka hetro u | 343 0 0 343 0 0
1
28
3 (asaka hetro 2 | 220 0 0 220 5 4
3
25
4 (asaka hetro s | 138 | 405 0 543 0 0
3
25
5 asaka hetro s | 167 0 0 167 3 4
5
22
6 (asaka hetro 2 0 25 0 25 0 1
1
7
7 ke et ro ;| 124 0 0 124 5 3
8 (aka hetro R I ) 0 0 70 3 0
9 ) 5 | 320 0 % 419 6 2
4
10
10 e oo o | 344 0 0 344 16 10
1 Bk tetro 2| 13 | x 0 171 0 0
1 Gsaka Metro i3 240 0 0 240 0 0
13 3 570 0 0 570 12 15
14 2 126 0 0 126 0 0
15 3 216 0 0 216 7 1
16 2 101 0 0 101 3 1
17 2 200 0 0 200 0 0
18 2 590 0 0 500 0 0
19 1 60 0 0 60 0 0
20 1 11 0 0 111 0 0
21 3 125 0 0 125 4 4
4,283 | 462 % 4,835 67 56




